A Special Decomposition for Symmetric Matrix*

Song Guoxiang Feng Xiangchu (Dept. of Math., Xidian Univ., Xi'an)

Theorem Suppose $K = (k_{ij})_{n \times n}$ is a symmetrical matrix, then K can be decomposed $K = -AHA^T$, where A contains only elements 0, 1 and -1; H is a diagonal matrix.

Proof Let $A = (A^{(1)}, A^{(2)}, \dots, A^{(n)}) \in R^{n \times \frac{n(n+1)}{2}}$, where $A^{(j)} \in R^{n \times (n-j+1)}$ $(j = 1, 2, \dots, n)$. Let

$$H = \operatorname{diag}(H^{(1)}, H^{(2)}, \cdots, H^{(m)}) \in R^{\frac{n(n+1)}{2} \times \frac{n(n+1)}{2}},$$

where $H^{(j)} \in R^{(n-j+1)\times(n-j+1)}$ with a diagonal form. Denote the elements of $A^{(j)}$ and $H^{(j)}$ as follows:

$$\begin{cases} a_{j,i}^{(j)} = 1, & \text{when } i = 1, 2, \dots, n - j + 1; \\ a_{j+l,l}^{(j)} = -1, & \text{when } l = 1, 2, \dots, n - j; \\ 0, & \text{otherwise.} \end{cases}$$

$$\begin{cases} h_{ii}^{(j)} = K_{j,j+i}, & i = 1, 2, \dots, n - j; \\ h_{n-j+1,n-j+1}^{(j)} = s_j, & s_j = -\sum_{i=1}^{n} K_{j,i}, & j = 1, 2, \dots, n. \end{cases}$$

Let $C^{(j)} = A^{(j)}H^{(j)}A^{(j)T}$, we can find the elements of $C^{(j)}$ as

$$\begin{cases} C_{j,j}^{(j)} = K_{j,j+1} + \dots + K_{j,n} + s_j; \\ C_{j,j+l}^{(j)} = C_{j+l,j}^{(j)} = -K_{j,j+l}, & l = 1, 2, \dots, n; \\ C_{j+l,j+l}^{(j)} = K_{j,j+l}, & l = 1, 2, \dots, n. \end{cases}$$

Thus $AHA^T = \sum_{j=1}^n C^{(j)} = -K$, the proof is completed.

References

- [1] Song Guoxiang & Shi Huli, Topology-finite element method for solving electro magnetic field problems, IEE.E.L., 21st July, Vol. 19, No.15(1983).
- [2] Xu Guohua & Song Guoxiang, Topology-graph theory and finite element, Analysis and Optimization of Rare-earth Permanent Magnet Generator, Northwest Telecommunication Engineering Institute Published House, China, 1986.

^{*}Received June. 20, 1991.